Adldizren vnd Subbrahieren

10, J J J , 60, , , 90,

35+10=__ 23-10=__ S6+20=__
46+20=__ 31-20=____ 67-10=__
54+30=__ 48-30=__ 41 +30=__
212+30=___ 45-30=__ 26-20=___
64+20=___ 62-10=___ 43+40=__
9+40=__ 55-30=__ 72-10=__
61+30=__ 44-30=__ S4+40=__
74+20=___ 63-10=__ 87-50=__
32+40=__ 66-20=__ 78+10=__
20+30+8=_ 30+10+6=___ 40+20+4=_
20+70+9=__ 10+70+65=___ 10+80+1=__
40 +30 +3=__ 40 +50+2=__ 10+S0+7=___
20+50+8=___ 40+20+6=___ 30+20+4=__
70+10+7=_ 30+30+6=_ 40+50+1=__
92-2=____ 93-3=___ 9% -4=__ 9%-5=__
92-1=___ 9B-2=____ 9 -3=__ NB-4=__
92-0=____ 93-1=__ 9% -2=___ %-3=___
93-0=___ 9% -1=___ %-2=____
94-0= %-1=__
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Adldizren vnd Subbrahieren

46, 87,__ . .
96, e,
16+20=____  41-20=__ 76-10=____
24+30=____ 58-30=__ 14+30=____
31+30=_ 65-30=__ 62-20=____
44 +20=___ 72-10=____ 34+40=___
59+40=_ 85-30=__ 27-10=____
61+30=____ 94-30=__ 45+40 =
74+20=____ $3.10=__ 78-50=__
82+10=___  36-20=___ 52+10=____
9%-6=___  97-7=___  98-8=_ 99-9=_
96-5=__  97-6=___  98-7=__ 99-8=_
9%-4=___  97-5=___  98-6=_ 99-7=__
96-3=___ 97-4=____  98-5=_ 99-6=_
96-2=___  97-3=____  98-4=_ 99-5=_
96-1=__ 97-2=___  98-3=__ 99-4=_
96-0=____  97-1=___  98-2=__ 99-3=_
97-0=____  98-1=__ 99-2=_

98-0=___  99-1=__
99_0 =
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